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A22FE Ao marketvoltxt 138 AFY

P marketyol - 2%

I2E BEE M0 20 EZSZH)
[BF7] - 0.088333 8.25 8.5 B.75 1 2
WAL - 211.79 223.55 235.32 247.89 258.85
] 418 37.2 33.78 31.59 30.82 24.9%
38.56 35.1 31.95 38.85 29.43 2404
36 32.6 29.57 27 .87 27.33 22.34
34.4 3a.y 27 .43 25.83 25.38 28.69
33.67 29.5 26.49 24.93 24.54 28.089
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[ 7-3]3}gto

P impliedvol - M=%

OHEY WEE) HHN0) 22 E3H)
=[] 0.08333 0.25 8.5 8.75 1 2
APDHE - 211.79 223.55 235.32 247.89 258.85

39.7868 37.2323 34.1929 31.7945 29.8862 25.0828
37.6756 35.291 32.4114 38.2046 28.5216 24.9986
35.487 33.0845 30.1922 27.991 26.3334 23.138
33.8544 31.3911 284117 261381 24_4863 21.8385
32.8711 38.3523 27 .2857 24.9134 23.891 19.362|
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void set_system_matrix(int n_data, double **smatrix, double *known, int *xdata,

double *ydata);

double cubicspline_interpolation(int n_data, int *xdata, double *ydata, int x);
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B marketvol - I == |T”E|b_<|
ME) BEE) MA@ =200 ES(H
|ij| A.88333 8.25 8.5 8.75 1 2
AL 188 198 208 218 229
B 24 22 20 19 18 17
22 28 19 18 17 16
28 19 18 17 16 15
19 18 17 16 15 13
18 17 16 15 13 11
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P localvol - HI2E
DR ®EE MAD B2 TSEH)
047 0.88333 0.25 8.5 8.75 1 2
WA 2 180 198 208 218 228
HEa: 24.8439 22 446 19.3626 168667 14.8964 18.437
226667 20.8284 18.6165 16.9642 15.7663 13.2351
19.7713 17.7951 15.5938 14.1392 13.3016 14.0396
17.082 14.7113 12.1788 10.5214 9.5165 9.81093
16.3899 13.2885 10.223 8.28011 7.05891 6.22178
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